o
[N

<0 > (rad)
o
o [
[ [¢)]

........

......

4,

-2 -1 0 1

2

3

TP n (PCA to beamline)

< o cot(y) >

..................

..................

-

ey
TT[TITT[TITT[TTTT

3

od -|4-

aHH- -

|
w

N

-1

0 1 2 3
TP n (PCA to beamline)

—=— DQM_CKF_QCDHighPt_base

—— DQM_CKF_QCDHighPt_retrainOldFiles125_v2_prelimWPM_epoch2

100

e woll LIEIINE 1
N SORTTE e T Tt
B el
20 - R e
SERM At
—o0ft-{-{f- U TEHHRIE il i
|- IR P
oo - LA
o 100F ottt Lol
g Al IS A o
e 21 SRR RO L |
S

|
w

2

3

TP n (PCA to beamline)

W+

<0 / > (Y
PP, > (Y0)
O = N W N O

L UL LN LALAN LAY LRSS AL L

|

1l+ HHF»MQ i

....................................

Ratio

+

(o8] 0 A R A B AL

T 2

3

TP n (PCA to beamline)

= 100

o~100F+t
= 15
12 E
1:—«
0.5F

o

N 4

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


